CalculusllI
Practice Problems 11

1. Shaw thatthe gragh of the polar equationr = acos6 + bsing is a circle of diameter+v/a? + b? going
throwghtheorigin. Whereis its center?
2. Graphr = 3(cosf + /3sin6).

3. Whatis thepolarequatiom of anellipse,with onefocus attheorigin, vertex atthepoint(-1,0) anddirectiix
thelinex=—-3?

4. Identify thecure: y = 2sin(56).

5. Graphr? = cog26). Thisis calledalemniscate.

6. Find thelengthof the spiralr = €®® from 8 = 0to 8 = 2.

7. Findthelengthof the spiralr = e~ for 6 > 0.

8. Findtheareainsidethelimagonr = 3+ siné.

9. Findtheareainsidethecardoid r = 1 —sin8 andabove thex-axis.

10. Whatis theslopeof the spiralr = 6 atthepoints 8 = 2rm for n a positive integer? Whatabou the spiral
r = e atthesamepoints?



